sample questions expand: quadratic has 11 layers timelypractice.com

1. (a) Expand z(z + 4)

N
T ( T 4 ) — ...
“invisible times sign” 1 T T
which sign?
(b) Expand y(y — 4)
2. Expand and simplify (k + 1)(k + 3) k +3
/\ k
R
(k 4+ 1)x(k + 3)= +1
N
3. Expand and simplify (z + 3)(z — 2) T -9
/\ T
R
(& + 3)x(x — 2)= +3

(

4. Expand y(y + 2) or y(y — 2)
5. Expand and simplify  (z+5)(x + 3) or (x +5)(z — 3) or (z —5)(z + 3)
6. Expand and simplify  (z —5)(z — 3)
7. Expand and simplify (¢ — 2)(q + 2)
8. Expand a(5a + 3)
9. Expand 5k(2 — k) or 5k(1 + 3k)
10. Expand and simplify (¢ —3)(3¢+ 1) or (2¢ + 3)(3q — 5)

11. Expand and simplify  (5m + n)(2m — n)
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